CHAPTER 8 - Selected Answers “Evens” 
          p.1
Section 8.1 (p.446)

2. C  4. 25  6. a10  8. 49  10. 1728  12. 27p3q3  14. 1  16. 5  18. 3  20. 814  22. b5  24. t5  26. 4 

28. 5  30. 2  32. 78  34. t30  36. x6  38. 46,656 (simplified?) 40. 125x3  42. a2b2  44. 100x2y2 

46. >  48. <  50. <  52. 27b4  54. 25a8  56. 36z11  58. 4x9  60. 125y12  62. 
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 or ‘1 to 8’  66. 2n  68. $10,737,418.24  70. A  72. D  74. 64  76. -4  78. 3  
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86. x > 3  88. 
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  92. false; 30  94. true  96. false; 3690
Section 8.2 (p.452)

2. true  4. 
[image: image8.wmf]1

3

  6. -2  8. 
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  12. 0.0004  14. 0.0006  16. 
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  20. 3,8,7  
22. 1  24. 
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  26. 10  28. 64  30. 100  32. 
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42. .0083  44. .0123  46. .0014  48. .0017  50. Remove the ‘-‘ from a-2 when ‘moving it down’.  52. 
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  56. 2x5  58. 
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  62. 1024x5  64. about 2.61 million

66. 2-1, 2-2, 2-3, 2-4  68. C  70. A  72. 2  74. 4  76. ½  78. 5  80. 11  82. -5  
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 92. (10,5)  94. (-129,9)  

96. Sample Answers: 
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p.2

Section 8.3 (p.458)
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24. 243  26. 96  28. 0.31  30. -0.28  32. C  
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42. D = All Reals, R: y > 0  44. D = All Reals, R: y > 0  

46. D = All Reals, R: y > 0  48. D = All Reals, R: y < 0 
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p.3

Section 8.4 (p.465) 
2. A  4. 
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  8. a3  10. x6  12. 
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  20. 6  22. 3  24. 4 
26. 
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  28. 1  30. x  32. x5  34. 9  36. -2  38. 2  40. 
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48. Error in the last step; answer is: 
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58. 1.728  60. about 2.86  62. Step(1) Substitution, since 0 = n – n  Step(2) Division of 2 powers… 
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 Step(3) Substitution, since canceling results in ‘1’  64. 107,374.18 in. 
66. J  68. G  70. 10  72. 0.0001  74. y = 2x + 3  76. y = 6x – 9  78. y = 2x + 6  80. no  

82. no  84. (-4,4)  86. (-4,5)  88. 
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  90. Sample Answer: 6500 92. 60  94. 2.2  

Section 8.5 (p.472)
2. 90,000  4. 8110  6. 0.000094  8. 
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  18. right, 5  20. 500,000  22. 1,000,000  24. 7.75  26. .0003  28. .00004 

30. .00000602  32. not, 
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 and (you’re kidding?) 1,944,000,000,000 !!!
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 and 19,700,000,000 (whew!)  60. 
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62. 9,460,000,000,000  64. 
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  68. about $337.84 per sq. mile

70. D  72. one  74. infinite  76.[image: image81.jpg]


 

78. 0.3333…  80. 
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p.4
Section 8.6 (p.479)

2. $500  4. 
[image: image84.wmf](

)

5001.04

t

A

=+

  6. B  8. C = 12, r = 2  10. Let y = salary, t = # of years, then 
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  12. y = concert attendance, t = # of years, then 
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  16. $1873.52  18. $2817.08  20. $319.07  22. $446.70  
24. $1332.22  26. $1611.76  28. 1, 2  30. 1.3, 2.3  32. 16,000 starfish  34. about 13 ft 
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 38. A  40. Sample Answer: The business in problem #15 since it has an annual profit of about $207,000 compared to lesser amounts ($93k & $123k) 

42. C  44. 49  46. 90  48. -3  50. -2  52. Bagels cost $.70 each and donuts cost $.55 each 

54. 78  56. y4  58. a13  60. 1/3  62. 1/5  

Section 8.7 (p.485)

2. 
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 4. $5137.33  6. $3770.31  8. exponential growth 10. exp. Growth 

12. 10, .2  14. 2, .25  16. Let y = value of the car, t = # of years, then: 
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18. Let y = value of the sound system, t = years, then: 
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22. about $16,087  24. about $9680  26. 160 mg  28. about 246 mg  30. 8, 4  
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42. B       44. [image: image98.jpg]44. exponential growth; 1.18
. 7 Kt





46. [image: image99.jpg]‘g exponeitial growti 1101




  48. [image: image100.jpg]48. exponential decay; %





50. Sample: The greater the value of ‘a’ the steeper the graph. The y-intercept also changes.

52. Sample: As ‘b’ decreases the curve gets steeper.  54. no, about 1/3 the original price 

56. G  58. 41  60. 13  62. -1.79  64. .92  66. y + 3 = 5x  68. y – 3 = – (x – 6)  

70. y + 5 = –2(x + 4)  72. 11.55  74. 12  76. 0.8  
 Selected Answers “Evens” 



p.6
Chapter 8 Summary and Review (p.489)
2. x6  4. n12  6. s2t4  8. 108a5  10. 
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  12. 2  14. 5q3  16. 
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22. x3  24. 
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  28. 6s4t2  30. 6700  32. .0000768  34. 
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  44. about 3.26 miles  46. about 101 people
Chapter 8 Test (p.493)
1. x7  2. a21  3. 8d3  4. m2n6  5. 1  6. 25  7. 
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Chapter 8 Standardized Test (p.494)

1. A  2. C  3. C  4. C  5. D  6. D  7. B  8. C  9. C  10. D  11. C  12. D
Maintaining Skills (p.495)

2. 
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14. 125  15. 27/64   16. y/x3  


17. a2b4   18. 400,000  19. 8560 


20. .05  22. .000628   22. � EMBED Equation.DSMT4  ��� 23. � EMBED Equation.DSMT4  ��� 24. � EMBED Equation.DSMT4  ���


25. � EMBED Equation.DSMT4  ��� 26. � EMBED Equation.DSMT4  ���


27. � EMBED Equation.DSMT4  ��� 28. $802.89


29. � EMBED Equation.DSMT4  ��� 30. � EMBED Equation.DSMT4  ���








6. D: All Reals, R: y > 0  


8. yes, 50 = 1   


10. no, 5(7)0 = 5   


12. yes, � EMBED Equation.DSMT4  ���  


14. no, � EMBED Equation.DSMT4  ���








Section 8.3 (continued)


52. (0,1), (0,2)  54. H  56. 5.33  58. 5.17  


60. -0.14  62. 5x – y = 2  64. 2x + 5y = 0  


66. x – 10y = 9  68. one solution 70. one  


72. one   74. � EMBED Equation.DSMT4  ���  76. -6.9, -6.57, -6.56  


76. 7.90, 7.90, 7.99
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